Answer Key
Chapter 10 Review

(Honors Chemistry)

What is a coefficient and what is its purpose? 70 GIVE RATOS of COMPNW\AS /n egquations
and +o balance the equativn

2. What does a catalyst do in a reaction? .
Y Speeds vp the rate of o feaction
3. Why must equations be balanced? Hint: Which law is being satisfied?
Law> oF conservation of MassS
; 5 R
4, What reacts with water to produce a base? m etal O de
5. What reacts with water to produce an acid? Aenine ra\ OK\. P
6. What is important about the activity series of metals when predicting a single replacement reaction?
Detefvines & & metal con replace anotrher metal
7. What is important about electronegativity when predicting the products of a single replacement reaction?
Determnes Fa Nonmetal Con (ePlace another non metal

8. What does a decomposition reaction require in order for it to take place? Zhera Y
9.  What do the following symbols mean?

a. () Sehd

b. @) liquid

c. (g8 9Qad

d. (ag) aqueovS

£ P Yi elols

g =  reversible
10. Compare the following: .

a. Skeleton Equation: chemical Form olas and p\'\y sical State

b. Word Equation: NaMwmes oFf Substance

¢. Balanced Equation: Skc\e-\-o ne ““ﬁhéﬂ u\'\"\ fac\'t'os
11. What are the reactants and products in most combustion reaction? o

Hydrocatbon + O —» Co, + H:
12. Where do chemical reactions take place?
everywhete
13.  What is the difference between complete and incomplete combustion? COL vs. CO
14. What is the distinct difference between decomposition and combination reactions?
1 reackapt vs, 1 froclut-\'
15. Compare a complete ionic equation with a net ionic equation. z
Compleke | AW @Q) Com pounds watttn as lons | Nek: only tons Focming prec P‘+“+e

16. Explain the significance of spectator ions in a double replacement reaction.

’T\My are |ensS ex]s-h'% N aqueovs s.c.lu‘\'l'on on both
the feag’tah‘\‘s and. Pfoo\m:\-s S\Ae 05" ﬁ‘\ne e"lun'l'lon



1. Identify the reaction type in the space provided.
2. Predict the products given the reactants
3. Balance the equation

Balance the Equation

Type of Reaction

| za+ Lcuwsoi> | cu + | znso,

Single Replacement

Z v+ | cac,>_ | can + _Z Nl

Double Replacement

2Na+ | B> 2 NeF

Synthesis

2 mNos+ | MnoEy, > | MaNOs), +_Z H0

Double Replacement

1+ v | Mg+ | 1

Single Replacement

Zwa+ |lcuch, » 2 wNact + | cu

Single Replacement

Aucn+ lcuso, > | cueny + | mso,

Double Replacement

_&Ga2039 4— Ga + 3 0

Decomposition

ARb+ lcuwsoi> | cu+ | RbSO,

Single Replacement

lem+ bo,» YUco + 4 mo

Combustion

3 HNOs+_| Fe(OH);, > __| Fe(NOs) + <3 H:0

Double Replacement

len> 3o+ |

Decomposition

A ANO+ | BasO,> | BamOw, + | AgSO,

Double Replacement

| amoy+3k> 3 knos+ | Al

Single Replacement

l H,S04 + A—NI‘L;OH - l (NI'I4)2SO4 + ?‘ HO

Double Replacement

;&CEHM + 'qOQ '9 Il COZ + 'q HZO

Combustion

__LiNOs; + Fe = No Reaction

No Reaction

_l__ CaO + _l_HzO - i CH(OH)z

Synthesis

| b+ ZnaBr> | B+ & nac

Single Replacement

l SI'3P2 '9 3 ST + 2 P

Decomposition




1. Identify the reaction type in the space provided.
2. Write a balanced equation for each of the following reactions.
3. Include the state of each reactant and product. Also, identify if a catalyst was used.

Balanced Equation

Type of Reaction

1. Solid glucose (CsH1205) reacting with Oxygen gas

l CeH1206 (8) + 6 0:(2) =2 6 COz(g) + é H20 (D Combustion
2. Solid lithium reacts with Chlorine gas
L Li@) + | chw > £ niag Synthesis
3. Solid potassium reacts with aqueous cupric nitrate
Single
_ZL K(s)+ _'_Cu(NOs)z (aq) > < KNOs(aq) + l Cu (s) Replacément
4. Aqueous sodium sulfate and aqueous barium nitrate react to form a precipitate
l ‘ 2. [ Double
Na2S0s4 (aq) + Ba(NO:3): (aq) =2 NaNOs (aq) + BaSOs4 (s) Replacement
5. Solid Calcium oxide and liquid water react to produce an aqueous substance
CaO (s) + l H:0 (1) =2 \ Ca(OH): (aq) Synthesis
6. Solid Aluminum oxide decomposes into a solid and a gas
3‘ ALOs (5) =2 4_ Al (s) + 3 0:2(g) Decomposition
7. Liquid pentane (CsHi2) combusts when heat is added
I CsHiz () + % 0:(g) =2 5 CO: (g) + 6 H:0 (1) Combustion




Balanced Equation

Type of Reaction

8. Chlorine gas reacts with an aqueous potassium bromide solution

l \ ?\ Single
Lcn + #xBrag > | B+ 7~ K@y Replacement
9. Sodium oxide reacts with water to produce a base
| Na:0 (s) + l H:0 (1) > 2. NaoH (aq) Synthesis
10.  Agueous aluminum nitrate and aqueous sodium hydroxide react to form a precipitate
3 3 l Double
| AINOs: (agq) + 2 NaOH (ag) > 2 NaNOs(ag) +__L_AIOH): () Replisemst
11.  Ethanol (C;HeO) reacts with the oxygen in the air
| o + 3o, @ > & Coi@+ % 10 Combustion
12, Solid Mercuric oxide breaks down when heated
gHgO (S) > ng (S) i l 0> (g) Dccomposition
13.  Nitrogen gas reacts with solid zinc metal
| @ + 37 > _| znhe @ Ryl
14. Phosphoric acid and lithium hydroxide react
l 3 l 3 Double
H:POs4 (aq) + LiOH (aq) =2 LizPO4(aq) + H20 (1) Replacement
15. Magnesium reacts with the oxygen in the air
' 5 Synthesis
A Mg +_|_0:@ > > M0 Combustion




